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Solve the general solution to " — " —8y'+12y =7e**

FE - (X 20 &)
FL)=x" -7 =x=7,2 f(x+27m)=f(x) » &

(a) f(x)z &= #wi (15 4)
1 1 1

(b) 1_2_2 3—2—4—2+...=? (5 Aa\>

@Az (15 &)

™ Laplace transform f#5f > figs = 425%

x,(t):2X—3y B )
{y,(f)=—2x+ y,X(O) —8,y(()) =3

R (X 15 4)

dho— W og A Xy —2xy+4z° =10 5 2 hw 5
(a) 2Eh(2,-1,-1)z2 8 2% 8 (84)

(b) #2L(2,-1,-1)z2.* T > 4258 (7T 4)



AT (1o A )

Find the eigenvalues and eigenvectors of the matrix A

-2 2 -3
A=| 2 I -6
-1 -2 0

AT (15 4)

Find the inverse of the matrix A
11 2

2 1

1 3

A=|1
0



